OHENL IS LDz LE

BiZt : B =|

2% A

- ITXLTEHELILLEDY: OFTVFIRELEZYILLI. )

® 5.5 + 3.1 + 8.5

@ 8.6 + 4.45 + 2.55

® 4.9 + 2.7 + 3.1

@ 5.25 + 6.2 + 3.75

@ HER

5.5 + + 3.1

+ 3.1

4.45 + 2.55 + 8.6

_|_

MIBTERYAL



%@@g@@a@] gikt: A B
OHENL IS LDz LE
2% i

C IRLTEHELEILLEDY, OFTVFEIFHEZFYFL LS, )

® 55 + 3.1 + 85 =55+ 85 + 3.1

14 + 3.1

7.1

@ 8.6 + 4.45 + 2.55 4.45 + 2.55 + 8.6

15.6

® 4.9 + 2.7 + 3.|

4.9 + 3.1 + 2.7

= 8 + 2.7

1 0.7

® 5.25 + 6.2 + 3.75

5.25 + 3.75 + 6.2
=19 + 6.2

= 16.2

@ BB & %@ig@ig@%@hz



